
 CMA USA  FINANCIAL 
 RATIOS

 -sunitnb-

 Liquidity Ratio
  
 (Ability to pay 
 Short Term Payment 
 Obligations)

 Working Capital  = CA - CL
 (greater than 1 is a good 
 sign)

 Current Ratio  = CA / CL

 (more than 1 is good)

 equal ^ in CA & CL --> 
 Ratio v    --> not good
 equal v in CA and CL --> 
 Ratio ^   --> good

 (equal to 1 is ok)  equal ^ or v in CA & CL --> 
 Ratio NO CHANGE

 (less than 1 is not good)

 equal ^ in CA & CL --> 
 Ratio ^    --> good
 equal v in CA and CL --> 
 Ratio v   --> not good

 CA ^  --> CL v  --> 
 Ratio ^  --> good

  
 CA v  --> CL ^  --> 

 Ratio v  --> not good

 Cash Flow Ratio
 = Operating Cash Flow / 
 Current Liablities

 Cash Ratio
 = (Cash + Cash 
 Equivalent + Marketable 
 Sec) / CL

 Activity Ratio / Efficiency 
 Ratios / Asset Utilisation 
 Ratios

 Payables Turnover Ratio
 (times payments made 
 against cr purchases in a 
 prd)

 = Net Cr Purchases / Avg 
 Ac Paybls

 higher the PTR lower 
 the PDP

  Payment Deferral Period 
  (PDP) / Days Payables O/
 s (DPO)

 = 360 / Payables T/o Ratio
 = Avg Payables / Credit 
 Purchases per day

 Inventory Turnover Ratio
 (times inv. was consumed 
 in a prd)

 = COGS / Avg Inventory
 higher the ITR lower the 
 ICP

 Inventory Conversion 
 Period (ICP) / Days Sales in 
 Inventory / Days Inventory 
 Outstanding (DIO) / Days 
 of Inventory

 = 360 / Inventory T/o Ratio
 = Avg Inventory / COGS 
 per day

 Receivables Turnover 
 Ratio
 (times Rcvbls took place 
 in a prd)

 = Net Cr Sales / Avg Net 
 Rcvbls

 higher the RTR lower the 
 RCP

 Rcvbles Conversion 
 Period (RCP) / Days Sales 
 in Rcvbles / Days Sales 
 Outstanding (DSO) / Avg 
 Collection Period 

 = 360 / Rcvbls T/o Period
 = Avg Rcvbls / Credit Sales 
 per day

 Operating Cycle  - ICP + RCP

 Cash Conversion Cycle / 
 Net Operating Cycle

 = Operating Cycle - PDP

 Fixed Asset Turnover Ratio  = Sales / Avg Fixed Assets

 Asset Turnover Ratio  = Sales / Avg Total Assets

 Working Capital Turnover 
 Ratio

 = Sales / Net Working 
 Capital

 NET OPERATING CYCLE = 
 ICP + RCP - PDP

 HIGHER THE RATIOS 
 BETTER THE 

 UTILIZATION OF THE 
 ASSETS

 Both should be as low as possible.
  
 Can be achieved by    v ICP & RCP  
 or    ^ PDP

 Profitability Ratio

 Net Profit Margin % = Net Income / Net Sales

 Gross Profit Margin %
 = (Sales - Cost of Sales) / 
 Net Sales

 Operating Profit Margin %
 = Operating Income / Net 
 Sales

 Return on Investments
 or Accounting Rate of 
 Return
 or Accrual Accounting 
 Rate of Return

 = Net Profit / Total Assets 
 or Total Capital Employed

 Return on Assets

 = Net Income / Avg Assets

 DuPont Model for ROA
 = (Net Income / Sales) x (
 Sales / Avg Assets)
 = Net Profit Margin x 
 Asset t/o Ratio

 Return on Equity

 = Net income / Average 
 total equity
 = ROA / (1 – Debt ratio)

 DuPont Model for ROE
 = Net profit margin × 
 Total asset turnover × 
 Financial leverage
 = ROA × Financial leverage

 Return on Common Equity
 = (Net income – Preferred 
 dividends) / Average 
 common equity

 Sustainability Growth 
 Rate / Retained Earnings / 
 Reserves & Surplus 
 Created

 = ROE x (1 - Dividend 
 Payout Ratio)

 RESERVES CREATED OUT 
 OF TOTAL PER SHARE 
 ROE

 Earnings per Share

 = (PAT - Pref Dividend) / 
 No of Common Equity O/s
 = Income Available for 
 Common Stock Holders / 
 No of Common Equity O/s

 DILUTED EPS

 = (Net Income - 
 Preference Dividend)
 + Preference Dividend (
 not net of Tax)
 + Interest Expense saved 
 from Convertible Bonds (
 net of Tax)
 + 0$ from Treasury Stocks 
 Repurchased
  
 /
  
 Weighted Average Shares 
 O/s
 + No of Convertible 
 Securities or Bonds 
 Converted to Shares
 + Incremental Stocks 
 Repurchased out of 
 Treasury Stocks 

 Price to Earnings Ratios (
 PE Ratio)

 =Price / Earnings
 = Market Price per Share / 
 Basic EPS

 Price to Book Ratio ( PB 
 Ratio)

 = Market price per share / 
 Book value per share

 Dividend Payout Ratio

 = Annual common 
 dividends / Income 
 available for common 
 stock

 Dividend Yield Ratio
 = Dividend per Share (
 Annual) / Market Price Per 
 Share

 Profitability Ratios

 Returns Ratio

 Earnings Ratio

 OPERATING CYCLE 
 indicates the Company 

 liquidity and asset 
 utilization

 Net Working Capital Ratio  = (CA - CL) / Total Assets

 Quick Ratio / Acid Test 
 Ratio

 = (CASH + CASH 
 EQUIVALENT + 
 MARKETABLE SEC + NET A/
 R) / CL

 Solvency Ratio
  
 (Ability to pay
 Long Term Payment 
 Obligations)

 Debt Ratio
 Debt to Total Asset Ratio

 = Total Debt / Total Equity

 Debt to Equity Ratio  = Total Debt / Total Equity

 Debt to Capital Ratio
 = (Current Liablities + 
 Long Term Liablities) / (
 Total Debt + Total Equity)

 Long Term Debt to Equity
 = (Total Debt - Current 
 Liabilities) / Total Equity

 Times Interest Earned 
 Ratio

 = EBIT (Operating 
 Income) / Interest 
 Expense 

 Fixed Charge Coverage 
 Ratio

 = EBIT (Operating 
 Income) / Fixed Chrges

 Cash Flow to Fixed Charge 
 Coverage Ratio

 = (Cash Flow from 
 Operation + Fixed 
 Charges + Tax 
 Payments) / Fixed Charges

 Equity Multiplier / 
 Financial Leverage

 = Total Assets / Total 
 Equity

 Operating Leverage
 =Contribution Margin / 
 EBIT

 Coverage Ratio
  

 if operations are sufficient 
 enough to pay the Fixed 

 Expenses

 Solvency Analysis
  
 - If Solvent enough to 
 cover Long Term Debt 
 - More than 1 is bad

 Using Debt as Coverage 
  
 aka Gearing Ratio

 Capital Structure Analysis
  
 Debt ^   -->  FC ^  --> Debt 
 to equity Ratio ^  ---> Not 
 Good
 Equity v  -->   Debt ^   ---> 
 Not Good
 Debt and Equity should 
 balance
 if Debt ^, Equity should 
 also be ^   ---> Good
  
 **(However ^ in Equity 
 should be due to ^ in 
 Profitability (i.e. Reserves) 
 and not just fresh issue of 
 Equity)**
  
 Debt can increase due to 
 decrease in profitability
  
 Higher cost of Capital  =  
 Higher Risk of Bankruptcy 

 Cash Ratio Assets:
  
 Cash
 Marketable Sec

 Quick or Acid Test Assets:
  
 Cash
 Marketable Sec
 Receivables

 Current Assets:
  
 Cash
 Marketable Sec
 Receivables
 Inventories
 Prepaids


